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SHEAR (LX) — Mﬁﬁﬁ(A) , s s (r)
X <4 (F) s g ()
2 1 3 1 = [ 3 [ ¢ [ = | 3 [ 9 [ = [ ¢ [ ¢ | = [ 5 [ 3 [ =
_3 94,222 82,592 11,630 110 65 45 62 39 23 48 26 22 - -
BB AR 62,738 53,497 9,241 79 40 39 36 16 20 43 24 19 - -
> B4 R 23,117 21,746 1,371 31 25 6 26 23 3 5 2 3 - -
=X 8,367 7,349 1018 - - - - - - - - - - -
5 A 5225 4,372 853 3 1 2 3 1 2 - - - - -
BB AR 4,816 3,968 848 3 1 2 3 1 2 - - - - -
> B4 R 51 51 - - - - - - - - - - - -
=N 358 353 5 - - - - - - - - - - -
A 2R A B 12,086 10574 1512 8 4 4 4 2 2 4 2 2 - -
BB AR 8,228 7,188 1,040 8 4 4 4 2 2 4 2 2 - -
> B4 R 9 6 3 - - - - - - - - - - -
=N 3,849 3,380 469 - - - - - - - - - - -
v 2R & 10520 8,556 1,964 8 4 4 8 4 4 - - - - -
BB AR 9,803 7,962 1841 8 4 4 8 4 4 - - - - -
> B4 R 4 2 2 - - - - - - - - - - -
=N 713 592 121 - - - - - - - - - - -
% A & 13,491 11,174 2,317 9 3 6 9 3 6 - - - - -
BB AR 13,104 10,862 2,242 9 3 6 9 3 6 - - - - -
=N 387 312 75 - - - - - - - - - - -
imA & 7,938 6833 1,105 5 2 3 5 2 3 - - - - -
BB AR 7377 6324 1,053 4 2 2 4 2 2 - - - - -
> B A R - - - 1 - 1 1 - 1 - - - - -
=N 561 509 52 - - - - - - - - - - -
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13,289 11,538 1,751 7 3 4 4 3 1 3 -
12,193 10,582 1,611 7 3 4 4 3 1 3 -
3 3 - - - - - - - - -
1,093 953 140 - - - - - - - -
3,559 3,372 187 6 2 4 3 1 2 3 1
3,426 3,244 182 6 2 4 3 1 2 3 1
133 128 5 - - - - - - - -
21,346 20,395 951 22 21 1 22 21 1 - -
303 295 8 - - - - - - - -
20,876 19,948 928 22 21 1 22 21 1 - -
167 152 15 - - - - - - - -
5,859 5,125 734 23 11 12 - - - 23 11
2,771 2,553 218 20 10 10 - - - 20 10
2,028 1,647 381 3 1 2 - - - 3 1
1,060 925 135 - - - - - - - -
909 653 256 19 14 5 4 2 2 15 12
717 519 198 14 11 3 1 - 1 13 11
146 89 57 5 3 2 3 2 1 2 1
46 45 1 - - - - - - - -
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Bt 1000 877  123| 1000 591 409 564 355 209 436 236 200 -
AR R 100.0 85.3 14.7 100.0 50.6 49.4 45.6 20.3 25.3 54.4 304 24.1 -
< B R 1000 941 59| 1000 806 194 839 742 9.7 161 6.5 9.7 -
= 1000 878 122 - - i i i i - - ; i
L I -4 100.0 83.7 16.3 100.0 33.3 66.7 100.0 33.3 66.7 - - - -
B AR 100.0 82.4 17.6 100.0 333 66.7 100.0 333 66.7 - - - -
> B AR 100.0 100.0 - - - - - - - - - - -
=g 1000 986 14 i i i i i i i i i i
AL B 100.0 87.5 12.5 100.0 50.0 50.0 50.0 25.0 25.0 50.0 25.0 25.0 -
B AR 100.0 87.4 12.6 100.0 50.0 50.0 50.0 25.0 25.0 50.0 25.0 25.0 -
a4 E%‘« AR 100.0 66.7 33.3 - - - - - - - - - -
= 1000 878 122 ; ; - - - - - - 3 -
AR A 100.0 81.3 18.7 100.0 50.0 50.0 100.0 50.0 50.0 - - - -
B AR 100.0 81.2 18.8 100.0 50.0 50.0 100.0 50.0 50.0 - - - -
a4 E%‘« AR 100.0 50.0 50.0 - - - - - - - - - -
AL 100.0 83.0 17.0 - - - - - - - - - -
=LA 100.0 82.8 17.2 100.0 33.3 66.7 100.0 33.3 66.7 - - - -
B AR 100.0 82.9 17.1 100.0 333 66.7 100.0 333 66.7 - - - -
> E%‘:, A E‘i - - - - - - - - - - - - -
= 1000 806 194 i i i i i i i i i i
ML E 100.0 86.1 13.9 100.0 40.0 60.0 100.0 40.0 60.0 - - - -
B AR 100.0 85.7 14.3 100.0 50.0 50.0 100.0 50.0 50.0 - - - -
< E%‘q AR - - - 100.0 - 100.0 100.0 - 100.0 - - - -
TR 100.0 90.7 9.3 - - - - - - - - - -
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2 5B 100.0 86.8 13.2 100.0 42.9 57.1 57.1 42.9 14.3 42.9 - 42.9
A l%‘« A R 100.0 86.8 13.2 100.0 42.9 57.1 57.1 42.9 14.3 42.9 - 42.9
< l*'f%& A R 100.0 100.0 - - - - - - - - - -
FRR 100.0 872 128 - - - - - - - - -
Lahis B 100.0 94.7 53 100.0 33.3 66.7 50.0 16.7 33.3 50.0 16.7 33.3
# E%‘« AR 100.0 94.7 5.3 100.0 33.3 66.7 50.0 16.7 33.3 50.0 16.7 33.3
S B%& A ﬁ - - - - - - - - - - - -
ik 100.0 96.2 3.8 - - - - - - - - -
TR A B 100.0 95.5 4.5 100.0 95.5 4.5 100.0 95.5 4.5 - - -
BB AR 100.0 97.4 26 - - - - - - - - -
< E%‘« AR 100.0 95.6 4.4 100.0 95.5 4.5 100.0 95.5 4.5 - - -
TR 100.0 91.0 9.0 - - - - - - - - -
I QA 100.0 87.5 125 100.0 47.8 52.2 - - - 100.0 47.8 52.2
# E%& AR 100.0 921 7.9 100.0 50.0 50.0 - - - 100.0 50.0 50.0
< E%‘« AR 100.0 81.2 18.8 100.0 33.3 66.7 - - - 100.0 33.3 66.7
R 1000 873 127 - - - - - - - - -
R Yo 100.0 71.8 28.2 100.0 73.7 26.3 21.1 10.5 10.5 78.9 63.2 15.8
A E‘#« AR 100.0 72.4 27.6 100.0 78.6 21.4 7.1 - 7.1 92.9 78.6 14.3
< E?é« AR 100.0 61.0 39.0 100.0 60.0 40.0 60.0 40.0 20.0 40.0 20.0 20.0
kR 100.0  97.8 2.2 - - - - - - - - -




